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Why we need to protect polar bears (Q1-Q13) 1 |reduce ZEASICH
[ |protect H33iCt [ [density e
[J |polar bears SlE 535 O [genome A=
[ |increasingly =28 9 [ |provide M| S5t
] |effect ot [J [solution SRR
[ |climate change 7| 2 H} [ |particularly 59|
[] |disappearance Argtd [ |affect gt 7| X[}
[ |far-reaching X|Chot Fers 7Kl = [J |generation MICH
[J [consequences A1t [J [osteoporosis =035
[ |uniquely =55, SO0|5HA O |bone He{
[ |adapt to ~0f| XS}t O |usually HE, AdHiMozZ
[ |extreme =gt [ [insufficient =52
[J |conditions 2HEN [ |intake o5
[J |threaten Rl [] |starvation Z=g, 7|0}
[ |[temperature 25 [J |constantly TEG|
[ |reach & 25t [ |remodel 7} Z= St}
[ |reason Olw A9 ] |add Z7}5tCt
[ |up to ~TI}X| [J |remove M| 7Stk
[J lunderneath ~Of oj, £0j [ |depending on ~0f o|ESHY, ~0f Eel
[ |comparative Ao 0l O |nutrient L
] |adipose N [ |availability 0| &7Isd
] |tissue M=) =7 [ |female g9
[ |be considered ~2 n2E|C} O |dig ICt
[ [obese H| oF [J [maternity OO L|(Y )2l AFEH
[ |be likely to ~ A ¢t [ |density 2=
[ [suffer from ~ERH DFHC} [ |come around =O0tLCH ANHSIT}
[ |diabetes o A [J |pregnancy .
[ |heart disease ek ] |birth =4
[J |colleague S= O [cub M 7|
[1|shed light on s ystct, H| 3=t [ |process TIASIC}, T
J [mystery =7, AH]| [ |result in O At ~7}F =t
[J [compare H| W SHCF ] [about o, CHEF
[1|genetic w9 [ |calorie Zz2
[ [structure 7= [ [reserve Of| 2F Stk
[ |relatives kS [ |despite JdH| = 275t
[ |survive WESIC [ |have to Sl OFStCt
[J [known as ~E2 AT ] [keep alive Atg] FCt
[ [gene T} O [dense Lot
[J |determine A5t [ |deplete CH= ZAA|7|C}
1 |allow 5|25t} (7 |in addition ATt}
[1 |tough 2lE O3 [] [emerge from ~O0| A SHOJLICt Lt 2Ot
[1 |bedridden sM F/U= ] [hibernate & A5t}
[ [astronaut FFH A [ [resort 7|CHEL Q| RISHE}, F A
[J |cholesterol = AHE (] [major =%t
[ |risk e ] [reformation e
[] [be associated with ~Qf BHEAE|C} ] [disappoint AMAAIZ|CH
[ |mutation SOl B} [ |threaten &5tk
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[ |potentially HMHo= [ |frustration =

[ |benefit 0|9 [ |as for ~0f| 2Ho 2SHH
[ |capacity 28 55 [J |moreover A EH7t

[J |evidence S [J |miss out A Iy SO}, HEE 2| CF
[ |significant R ot [ |unusual HEHSIK| 2

[ |medical o|shA 0l [ [relationship with ~Qf 2t

[ |humanity oIzhg O |sled ‘204

[ |certainly 2t 5| [J |hand-raised A 2, =5
[] |take into consideration  |~2 12{3}Ct [J [remarkably FEX|A, AXSHA
[J |tend to ~St= d20| ULt O [in the wild OF 4 Of| A

[J |conservation BE B3 J [hunt A, AHESHEF
[ |effort L= [ |actively 2|

[J |on the other hand SHHOE = [ |be known to ~0 2a2{X|Ct

[ |seem ~8f| = 0| C} [ |since ~I 20, ~O|2| 2
[ |perceive QI X|SkC}, AHZHSHet [ |astonishing SEf

[ [stupid HASH Bt 1 |if 0 were to orof ~oHrCet™
[ |violent Zx 0ol [ |lead to ~2 O|{X|C}

[J |anecdotal AB}E QI [J [not only A but B A®DHOfL|2} B
[ |primate AYF O |intelligent S5t

[J |environment st [J [majestic st

[ |manipulate Z 55t [ |breakthrough ST

[ |tool e [ |skin o

[ |make use of ~2 0| 835}C} [ |various CHot

[ |observe ZHEFSHC} [J |due to ~ 20

[ |problem-solving =X siZ4 O [build-up ZH|

[ |ability 54 7 |fat X|g

[ |field =0f [J |be able to ~2 = ALt

] |involve FEBSHCt [ [control s, e

[ |barrel =, Hi & J [means =t

[1 [jump onto FHojR=Ct [ [think of ~S Y2tsiCh

[ |attempt A= [ [knock down Bt SiCH 4 ESHC}
[1|get to T XSO} [ |display T E5IC}

[ |stand on MO, DFESICE MCH | O [work out S Z2stCt

[1 |platform EHE [ |method 2

[ |deliberate oMol MESot J [be located ~0f @|X|SHC}

[ |focus HESotCt [J |conscious oAl S

[ |object =4, 8 [ |similar to ~0f| H|=ot

] [knock over 2 =5|Ct [ [make movement = /0| Cf

[ |appear LEEFLICEH ] [form SRkl

[J |demonstrate 2SIt [ |species 5

[ |be capable of ~= g = ALt O]

[ |agile oiyst O]

[ |suggest M| oSt} O]

[ |behaviour A= O

[ |previously O|of| O]

[1 |seemingly HYeZ ZEI|0= [O

1 |out of ~2 2H O
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made of enter =0{7tCt, Y5t
dried AXSH o2 unwanted YR e

clay HE visitor Y= At

brick HE discourage orCt, ZPEA|7|C
cover St be proud of XA stot
underground X|5te accomplishment chil

passage SE break the tradition ME2 MLt

The Step Pyramid of Djoser (Q14-Q26) [] |deceased Aot
[ |area X9, 20f [ [stack AL 47|
1 |artefact S = J [conceive of ~2 SAstot
[ |within ~O[LKOf| [J [for reasons ~9| 0| &2
] |pyramid oj2to| = [J |known as ~2 A7
] [task =k [J |be thought to ~2 M 2| Of K| Cf
[J |involve el [J [owing to ~ [ ZOf|
[ |certainty 2Hald [ |scholar St}
[ |[definite 2Haloh 2ot [ |attribute A1t2 2o}, XAHE, £
[ [overview N [J [historian AALZ}
[ [external QIE X0l 1 [be involved 74 SHE}
[ [copy S ALSICL SAb [ [construction dd
[] [incredible 22 = Qe (1 [comment on ~0f Tk 2o
[ |despite 0| = S50t [ |complex =&ot
[ [remain ‘= OF AL} [] [experimentation e
7 |burial K| Al [J [investigate ZASHCH
[ |unexpected Of| & K| ot [J |examine A5t}
] [monument 7lg= ] [thoroughly =Sk
[] [ancient i ol [ |pilke 50|, Aot
[] [enormous Lot [ [enormous oot
[] [interest =0, 2 [J [challenge =)
[ |in the present day =R [ |place @I K|St}
[J |grand STt O |inward RHZo|
[ |impressive dHH2 [ |incline 7| 2L A
[ |tribute 3=, A (1 |in order to ~2 St7| 2[5 A
7 |link with ~0f S ASIC} [ |prevent of| 2 St
[1 |even though H & ~2X|2te [ |break up 5| Of X| T}, 7§ EE2|CF
[1|memory 7|9, 7|1 & (] |finally 2oz
[J |such as ~QF 22 [1|complete 2t sHo}
[ [evolution 2zt O [quarter =7|
[1|argue =& 5t} [ |shrine =
] [for centuries =N 7| =0t O [courtyard =
[1 |begin with ~E A|XSIC) [ |temple A
[ [be concerned 24’4 StCt, 0 e{stot ] [region X<
7 |brilliant 287 ] [false Pl
[J |architect A=t [ [cut into 7)|O{ S L}, &SI
[ [tomb FH ] [ringe by = IH X|C}
1 |reign sX| 7|2, XA [ |trench =8, s+, sHAt
[ |prior to O Hof| [ |incorporate into ~0f S8tA|7|Ct
[ |rectangular A O [J |wish to ~O| H2t
[] (]
[] (]
[] (]
[] (]
(] ]
(] ]
(] ]




Cambridge 16 | Academic Reading | Test 1 | Passage 2 (cont'd)

[ [carve on ~0f Aj7|Ct [J |along with ~0f [rH2tAf
[ |burial kS [0 |a number of CHot
[J [chamber E J [entrance 27

[ |be laid to ~0 =C} [ |as a result AnFo=
[ |rest It &4 [ |encircle = ML}
[ [dug dig(IEHo| MtHH [ |cleverly EESHA
[] [beneath ~Otef o [ [prevent from ~= SC}
[ |base 7|g 712 [J [unless ~SIX| b= o
] [vast =R ks [ [persuade 8 =StCt
[J |construction - [J |disagreement ol & =YX
[ |mysterious MH28 [J |concern 2735t}
[J |discoveries 24H, dHE ] [fail to A I SO}
[J |a large number of CHEFo| [ |appreciate ZHALSHCH
[J |be inscribed with ~= MECt O |possession LRE
[ |archaeologist A SHR} O |criticise H| E kot
[]|agreement gtol, 52 O]

[ |be placed ~0i| 2| X|5HC} O]

[1 |be supposed to ~S}7| 2 StC} O]

[J [represent CH & SO O

[ |excavate 2= 5tot O

[ |complex =&ot O]

[ |originally =2 2|, &z} O]

[ |predecessor HAX, O] A O]

[ |dump into H{ 2| C} O]

[ |shaft +X &, &80 O

[1]as yet O %| O]

[ |attempt A= O

[ |prevent Of| 2 StCt O

[1|grave 24 O]

[ |robber 4= O

[ |precaution Of| 2t 2 O]

[ |intricate =&t O

(1 |unfortunately =AU = O]

[ |intricate =&t O

[1|at some point o7t O

1 |overlook ZbapSHE} O

[ |valuable 7HX| QU= O

[1|amaze =2t StCt O]

O |as @EAL/S A as A ARHS (&/5)et O

[1 |constitute T8 5tk O

[ |milestone 2% tH O]

[ |architecture a4 O

[1|advance ST H O

[ |revolutionary e O

[1|hold a place At2|E MLt O

[J [accommodation S PN O

[ |be occupied by ~Off AIE2|CE XHX|E|CE [T
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The future of work (Q27-Q40) [ |cognitive 21419
[ |according to ~0f| 2™ (] |task g7
[ |leading MESH= [ |expert Mt
[ |consultancy Az 2|AL = [ [novice ZZE X}
[J [workforce B [J [observation 2HE
[ |switch Mgt [ [legitimate FEo Efgot
[ [occupation SR 1 [peripheral FHAOl, TXO
[ [adapt X 35t (1 |era AICH
[ |artificial intelligence ISKs [ |profession XY, SAHAE
[ |disruptive N [] |telecommunication M7 S
[] |automation A& 2t [ [monitor S LIE{SIC}, 22|50t
[] |embodied T E, ZoE [] |extent to o =
[ |labour market s AMNE [ |workforce Y
[ |algorithm A [ [salespeople ooj 2
] [evolve ZIststCt 1 [frequent 25
[1 |alongside ~HOf|, LIt [ |contact with ~2to| J&F
[ |increasingly SESRE| [J |account manager AE/2 A B A
[ |capable 7ts%t [ |certain 2o, ot
[ [machine 7| A O [campaign A 2l
[1 [dependent O|EZX 0l [ [kinds of ~9| R/
[ |be capable of ~= 2 = AL} [ |external Q& X9l
[] [so-called 2%, O| 24} (1 [creep into =il C2FIbC}
1 |knowledge INES ] |in cases like this 0|2t #2 F20f
[] |economy 4H| (] [whereby (A0 2|5t0) St=
[]|as a result of ~O| A= M O |alternative CH Ot ME VLSO
[ [fundamental 7| 28¢l [] [experimentation A
[ [undertake Ap=SiCt (1 [human instinct It 25
[ |previously o] of| [J |discourage oiot, A7 |
1 |judgement THEE [ |effectively 2™
[] |market intelligence K 1 [progress £, TS5t}
[ |gathering 29 [ |strategy HE
[ |medical ofstA ¢l [ |feed HO|Ct, HO|E FCt
[ |analyse =~ 5L} ] [observe £HESHC}
[ [contract A of 1 |colleague S=
] |legal HE ol [] |advantage 0|9
[ |in many cases 2 420N [ [target =H
[ |outperform = 7ISHE} [ [report = anke) e
[] |attract 201 7ICH o= Al7|C} [ |scenario AlLtE| 2
[] |make choice M ERSEC} [ |avoid | SHC}
[ |based on ~0 7|2=35+0 O |individual 7215 21, 7 2l
[ [enhance LAl 7| Tt O [transparent FE3ot
[ |productivity A [ [trustworthy ME|g 5= U
[ ]as well as ~@ 8k ofL| 2} (] [in the meantime 1 S0t
[ |take over =o{ 20}, 7|0t [ [make sure 2t SHA| SHEF
[ |without ~20| [ |occupational SEE
[] |consequence 41t O [regarding ~0f 250
[] |routine A, FE [ [dilemmas =2 0f
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[J |whole A 2 [J [pronounce HYSIC}

[ |course s [ |cultural =2 H 0l

7 |full-time ZEY Q| [ |nature of the work =9 23
[ [retirement 2E| O [labour force 5

[J |pension A= [J |proportion H| 2

] |multistage THA 2l [ |difference between ~AFO| 2| X}O|H
[ |envisage Of| & SHCF [J |disembodied H| x| 2}

[ |instead CH 10| [J [impact get

[ |adequately SE0|, HEY| O |influence on ~o| gt

[] |assume 71 5tCt [ |attitude toward ~0f| Ciot Ef =
[J |prediction o= [ [shift 0|&

[ |misguide 22X O| &L} [J |decline ZAsiCt

[ |job market Tol F, o1 MY [ |sector = OFf

[ |view about ~0f| ot 2H [ |workplace g

[ |agree &S 2| SHC} ] |be paid X|=Z3StE}

[ |restrict A gtshet [ [current R

[ |capital A3 [J |ought to ~= S OFSIC}
1 [supply SOt 35 1 |intrusion e

[ |unemployment =1 [ |resentful =0l ot=

[ |publish =TSt [ |disagree H| 5 O| 5tCt

[] |whether ~0|E O}L|E O [profound oA Moot
[ |social policy APl X G [J |negative 2-8H

[] [tackle S| 25tCt [J [unemployment HY HYUE
[ |retrain MusS 2ot [ |highlight el

[1 |redundancies gelsia, 2829 = [ O [handle 22| SHot

[ [robotics Ex 33 [ [focus on HSotCt

[ |jobless X HEfQ [ [rely on O|E3tCt

[ |redeployment 0| =, O, HiX| st O |era A|CH

[ |opportunity 713 [] [recommendation =M

[ |seize Lt ] [be deterred from CHEA|Z|C}

[ [improve 70 5HEF O |innovation Al

[1 |enforce Tsiet, 245kt [J |decision-making OlAL AH

[ |job security ng =% [ |with regard to ~0 2SN =
[] [prepare T HISHCH [ |observe EHEFS|CH

[ [leisure of 7t O |intuition S P2 SR

[ |guarantee 2 [ |confidence ME|, XpA, =AM
[ [democracy BIFF0| [ [reliance O|=, 9|X|

1 |bold Yo g, 72 [ |satisfaction o=

[J |humankind o1, ezt [ |pressure &y, Het

[ |deliver e [J |promotion s, 88

[J |astounding LAy [ |information g2

] [subsistence ESPS RS-, [ |result in a Zt ~7t Z|Cf
O |agriculture ¢ [ [take measures ZX|E F oLt
[ |corporate IPNgC) [ [transform HAAZ|CF

[ [enable 7+&5HA StCt ] [the range of ~9| HQ|, Chtst
[ |revolution M [ |conventional 550l

[ |production A At [ |career path 4




